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Cunudkip 191,070 49,295 108,410 7,434 270 20,309 3,032 2,320
Cunudkup 191,070 49,295 108,410 7,434 270 20,309 3,032 2,320
Snudwpny 88,133 27,543 52,793 3,350 125 3,232 607 483
Ght 102,937 21,752 55,617 4,084 145 17,077 2,425 1,837
Ulhunnuljwh §/S*wimudutp
Cunudkup 190,976 49,219 108,403 7,433 270 20,301 3,030 2,320
Snudwpy 88,092 27,512 52,788 3,349 125 3,229 606 483
Yhu 102,884 21,707 55,615 4,084 145 17,072 2,424 1,837
S I-php gpywd wid
Cunudkup 65,156 3,963 41,243 578 27 16,193 1,927 1,225
Snuudwpy 43,131 1,578 38,116 132 4 2,744 343 214
Yhu 22,025 2,385 3,127 446 23 13,449 1,584 1,011
Ghbp /un/niuplip
Cunudkup 40,079 0 40,069 10 0 0 0 0
Snudwpy 1,615 0 1,614 1 0 0 0 0
Yhu 38,464 0 38,455 9 0 0 0 0
niuwnpp/npnhl
Cunuudkup 53,820 35,894 12,149 3,532 125 389 847 884
Snudwpy 35,320 20,845 10,989 2,841 110 68 230 237
Yht 18,500 15,049 1,160 691 15 321 617 647
Mawdwlugniprul nwl] gunin/ng Epkhnu
Cunudkup 35 35 0 0 0 0 0 0
Snudwpny 24 24 0 0 0 0 0 0
Yht 11 11 0 0 0 0 0 0
Uuypp/hu
Cunuudkup 4,870 4 2,060 48 1 2,630 87 40
Snuidwnn 1,253 2 915 17 1 310 5 3
Yht 3,617 2 1,145 31 0 2,320 82 37
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Lnypp,/Enpugpp
Cunudkup 1,579 1,141 169 53 3 71 68 74
Snuitup, 575 414 98 29 1 10 12 11
Yhl 1,004 727 71 24 2 61 56 63
Ulkunipp /uljbupuypp /gnpuilisp / whlkpn
Cunudbup 483 2 132 2 1 325 16 5
Snuidwpy 91 0 50 0 0 38 1 2
Yhl 392 2 82 2 1 287 15 3
Zwpup/ thkuwl
Cunudbup 14,606 0 11,397 2,729 99 329 24 28
Snuntupy 480 0 382 92 2 4 0 0
Yhl 14,126 0 11,015 2,637 97 325 24 28
Sunnp,/iguiyp
Cunudkup 261 1 69 2 0 188 0 1
Snudwpy 60 1 31 1 0 27 0 0
Yht 201 0 38 1 0 161 0 1
[npp
Cunudkup 7,992 7,137 522 267 9 7 18 32
Snudwpy 4,810 4,193 420 181 6 1 2 7
Uht 3,182 2,944 102 86 3 6 16 25
Uy wgquilpul
Cunudkup 1,811 925 511 173 4 137 33 28
Snunlwpy 649 414 151 45 1 20 11 7
Ght 1,162 511 360 128 3 117 22 21
[y wgqulwl
Cunudbup 284 117 82 39 1 32 10 3
Snuntupy 84 41 22 10 0 7 2 2
Yhl 200 76 60 29 1 25 8 1
Tulpuyht §/S
Cunudbup 94 76 7 1 0 8 2 0
Snuidwpy 41 31 5 1 0 3 1 0
Yhl 53 45 2 0 0 5 1 0
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Luwnup 112,180 28,742 63,647 3,872 206 11,856 2,254 1,603
Cunudkup 112,180 28,742 63,647 3,872 206 11,856 2,254 1,603
Snudwpy 50,391 15,312 30,842 1,692 95 1,805 368 277
Ght 61,789 13,430 32,805 2,180 111 10,051 1,886 1,326
Unhwwnulwi $/8 2
Cunuudkup 112,086 28,666 63,640 3,871 206 11,848 2,252 1,603
Snudwpy 50,350 15,281 30,837 1,691 95 1,802 367 277
Yht 61,736 13,385 32,803 2,180 111 10,046 1,885 1,326
/S 1-plip gpyud wlhd
Cunudkup 38,809 2,503 24,213 360 22 9,361 1,468 882
Snudwpy 24,858 917 22,010 65 4 1,542 199 121
Ght 13,951 1,586 2,203 295 18 7,819 1,269 761
Yhip /un/niupis
Cunudbup 23,338 0 23,330 8 0 0 0 0
Snuntupy 1,095 0 1,094 1 0 0 0 0
Yhl 22,243 0 22,236 7 0 0 0 0
Iniuwnpp/npnhl
Cunuudkup 31,127 20,548 7,216 1,817 96 262 600 588
Snurlupy 19,682 11,417 6,442 1,423 82 34 144 140
Yht 11,445 9,131 774 394 14 228 456 448
Mhwdwluynprul vl gunbygng Epkaw
Clyurndkip 25 25 0 0 0 0 0 0
Snudwipy 17 17 0 0 0 0 0 0
Yht 8 8 0 0 0 0 0 0
Uuypp/hu,
Cununkip 2,922 2 1,216 24 1 1,574 76 29
Snuitup, 714 1 527 8 1 171 4 2
Ght 2,208 1 689 16 0 1,403 72 27
Lnynpp./Enpugpp
Cunuudkup 1,022 738 109 32 3 46 45 49
Snudwpny 343 256 50 18 1 5 6 7
Ght 679 482 59 14 2 41 39 42
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Ulkunipp /uljEupuypp /gnpuilisp / wiik,
Cunudbup 296 1 78 1 0 204 10 2
Snudwipy 52 0 29 0 0 22 1 0
Yht 244 1 49 1 0 182 9 2
Zwpup/ thkuwl
Cunudbup 8,493 0 6,780 1,406 75 195 17 20
Snudwpy 359 0 291 64 2 2 0 0
Yht 8,134 0 6,489 1,342 73 193 17 20
Sunnp,/iguiyp
Cunudkup 147 1 41 2 0 102 0 1
Snuidwpy 31 1 18 1 0 11 0 0
Yht 116 0 23 1 0 91 0 1
Lonnp
Cunudbup 4,620 4,170 303 115 6 4 11 11
Snudwpy 2,706 2,380 244 74 4 1 2 1
Yht 1,914 1,790 59 41 2 3 9 10
Uy wgquilpul
Cunudkup 1,134 607 312 83 3 86 23 20
Snudwpy 451 271 119 33 1 12 10 5
Yht 683 336 193 50 2 74 13 15
L1y wgqulwl
Cunudbup 153 71 42 23 0 14 2 1
Snudwpy 42 21 13 4 0 2 1 1
Yhu 111 50 29 19 0 12 1 0
Tnipught S/S2
Cunudbup 94 76 7 1 0 8 2 0
Snudwpy 41 31 5 1 0 3 1 0
Yht 53 45 2 0 0 5 1 0
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Qo 78,890 20,553 44,763 3,562 64 8,453 778 717
Cunudbup 78,890 20,553 44,763 3,562 64 8,453 778 717
Snudwpy 37,742 12,231 21,951 1,658 30 1,427 239 206
Yhl 41,148 8,322 22,812 1,904 34 7,026 539 511
Utthunnwljut §/S 2
Cunudbup 78,890 20,553 44,763 3,562 64 8,453 778 717
Snudwpy 37,742 12,231 21,951 1,658 30 1,427 239 206
Yhl 41,148 8,322 22,812 1,904 34 7,026 539 511
&S 1-hbp gpyjwé whd
Cunudbup 26,347 1,460 17,030 218 5 6,832 459 343
Snuitwp, 18,273 661 16,106 67 0 1202 144 93
Yhl 8,074 799 924 151 5 5,630 315 250
Yhhp /undniupliip
Cunudkup 16,741 0 16,739 2 0 0 0 0
Snuufuipn 520 0 520 0 0 0 0 0
Yht 16,221 0 16,219 2 0 0 0 0
“tniuwnpp/npnhl
Cunudkup 22,693 15,346 4,933 1,715 29 127 247 296
Snudwpy 15,638 9,428 4,547 1,418 28 34 86 97
Yht 7,055 5,918 386 297 1 93 161 199
Mbhwdwluynipnul vl qubyng Epkluw
Clyunlkip 10 10 0 0 0 0 0 0
Snudwpy 7 7 0 0 0 0 0 0
Yht 3 3 0 0 0 0 0 0
Uwinp/huy,
Cunudbup 1,948 2 844 24 0 1,056 11 11
Snuluipn 539 1 388 9 0 139 1 1
Yht 1,409 1 456 15 0 917 10 10
Lnypp,/Enpugpp
Cunudkup 557 403 60 21 0 25 23 25
Snuutuipn 232 158 48 11 0 5 6 4
Uht 325 245 12 10 0 20 17 21
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Ulkunipp /uljkupuypp /qnpuilisp / wik,
Ctqudkbp 187 1 54 1 1 121 6
Snudwpy 39 0 21 0 0 16 2
Yht 148 1 33 1 1 105 6 1
Zwipup/ thkuwl
Cunudbup 6,113 0 4,617 1,323 24 134 7 8
Snuidwnn 121 0 91 28 0 2 0 0
Yht 5,992 0 4,526 1,295 24 132 7 8
Sunnp,/wyuiuyp
Cunudbup 114 0 28 0 0 86 0 0
Snudwpny 29 0 13 0 0 16 0 0
Yht 85 0 15 0 0 70 0 0
fnnp
Cunudbup 3,372 2,967 219 152 3 3 7 21
Snudwpy 2,104 1,813 176 107 2 0 0 6
Yht 1,268 1,154 43 45 1 3 7 15
Uy wgquilpmb
Cunudbup 677 318 199 90 1 51 10 8
Snudwpy 198 143 32 12 0 8 1 2
Yht 479 175 167 78 1 43 9 6
15 wqquilpub
Cunudbup 131 46 40 16 1 18 8 2
Snudwpny 42 20 9 6 0 5 1 1
Yht 89 26 31 10 1 13 7 1
Fudpughts S/S
Cunudbup 0 0 0 0 0 0 0 0
Snuidwpy 0 0 0 0 0 0 0 0
Yht 0 0 0 0 0 0 0 0
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